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a) x+ 6 = 8 |

oC &+ 6-‘:6 = 8 - él

= = l i
vé’a /)Q'e—*—‘l'on .,64 J,eﬁua_Abn n.oéx:za
e) Ay + A = 0o

ﬁ* AA A4 = A0 -1

d = —i
-fa Aa-ga.énon M"ja‘d..

Ex ercice b

‘CL) Soc =

Sx =

s‘
s

3 3
>

X =

Lo colubion est x= 3
C) "-255 8

2= B

122 =3

R o= -4

olo. cobubion “:/3“ -4,
e) ¥x = -12

214 X _= "' 4,2.
2,7 2,7

e | =T
I__-.:-v{,z s.“‘lz- ='"'9‘
2% 2 .5

Lo volubion est x _-.N“ 4/‘9_\

b) Sy

b) ¢-2 = 3
d-2+3 - 3 +~+
s
£ = Ao
LoD oot oobulion ol Claguatiom,
o) b= 83 | L1 43,2
PANSARANNEEY) +5,3
x = 5,3-3,2
ac = 2,4

[x s, 4 et v&m&&:n

oLa on eof A = 0,6
o) 4,43 =0
-2,
‘ b4,%
| b s

e[a. Muor) o& j’e' un.Abn
ent 3 =0

A proclud ol 2 focliwnss ert
mul (z0) & / Lewbament o

%) CPIREL .
T
5 :"_Z'._. (—_—,-J,#S.)

afa. sobuliam e/a/-cja-. -4,45 .




